R:\A - Projects\Project Folders\proj 1501 - 1600\PF 1587\D. RWBC Drawings\2010\FL-15213\FL-15213.19-26.dwg, FL-15213.19

plastpro

5200 W. CENTURY BLVD.
LOS ANGELES, CA 90045

Smooth / Wood Grain / White Wood Grain

Rustic / Mahogany
Series N Fiberglass Door

INSWING / OUTSWING

GENERAL NOTES "IMPACT"

This product has been evaluated and is in compliance with the 2010 Florida
Building Code (FBC) structural requirements excluding the "High Velocity
Huricane Zone" (HVHZ).

Product anchors shall be as listed and spaced as shown on details. Anchor
embedment to base material shall be beyond wall dressing or stucco.

When used in areas requiring wind borme debris protection this product
complies with Section 1609.1.2 of the FBC and does not require an impact
resistant covering. This product meets missile level "D" and includes Wind
Zone 4 as defined in ASTM E1996 and Section 1609.1.2.4 of FBC.

For 2x stud framing construction, anchoring of these units shall be the same
as that shown for 2x buck masonry consiruction.

Site conditions that deviate from the details of this drawing require further
engineering analysis by a licensed engineer or registered architect.

TABLE OF CONTENTS

SHEET# | DESCRIPTION

Typical elevation, design pressures, & general notes

Door panel details

Horizontal cross sections

Vertical cross sections

Buck and frame anchoring - 2X buck masonry construction

37.50" MAX. OVERALL
FRAME WIDTH

98.00" MAX. OVERALL FRAME HEIGHT - INSWING
96.50" MAX. OVERALL FRAME HEIGHT - OUTSWING

-

O

INSWING

37.50"x98.00" | +45.0

-70.0

Frame anchoring - 1X buck masonry construction

Niovj A WIN

Bill of materials & components

OUTSWING

37.50"x96.50" | +65.0

-65.0

2 &
¢B 22 J
r4 N 20 -
.dg|56$o
Esa1f
TN
3>2§a§g
. 589 8T E
o o £
& ONgLEy £
oxfs3th §
®Za -~
§ 9 .2805 [
£50928,4 s
m_mn.o.ms .8
o 9O 3
T
[} O 9
gg £o
n
L
8 5
=9 =i
2495 £
&gmﬁe
g&’g“—'m
Y] L
am|% gn:
5 g 32
= O%‘n
2 L
- B TE
o o
>
m
n
=z
o
N
|
o
o
S
o
L
oatE: 02/16/12
scAaLe:  N.T.S.
DWG. BY: JK
CHK. BY: LFS
DRAWING NO.:
FL—-15213.19
SHEET _1 OF 7

© 2012 R.W. BUILDING CONSULTANTS INC.



TON] SLNVLINSNOD aNIaTing "My L0 O

BOPSF "ON “T'd “WPIUYDE °4 uopuiy mZO_m_>Mm ; .
TirezZ MN‘PQ SVLIA TINV] ¥00a A8 N A I A
£186 "oN uopbzidoyiny JO e1pOuRIeD . Mm, =2 lE 2 i

siesuiBul |DUCISSSIOIY 1O PIDOT DPUO| SAIENISSY W0 Luvd = o 0N

LBLE'BSO°CLE ION suoud 4004 SSV19y34id ;n,;,_/ LU ER 2_
S6GCE “1d OOMIPA 0T %08 "O'd \“\Mvg "“ONI Q¥dLSYd ol . |lal&le |
*ONI ‘SINVLIIASNOD HNIATING i m e |Z m
:Ag pesodedd sjuswinoog <LoNAoYd &8 m 5 W
o
(® 2 5
5 =
]
> )
n a
— _ 2
R NN ~ =
N : «f,
AURE 3
ol =
® : :
]
© =
: B
uy ,.. =
5 = =
% g 7| m
2o [t
o o i | :W._
= ge] ﬂ i
oi2 =
i <3 &
i (® ®
ft— 4G° | — ]
/{‘.ln' E
« m
. — ol O
S T e @
—— 2 3JF
(l}/ -~
h —— ®
_&\ . —f LUl = —= £l _..!L
+ =E L P = mw
3 2 2] B
i Ol% n
= (%] i aail)
5 * 25 L L=
o] ,
= (® ®
e ‘
&9
o]
o o a
o o -
o oz <
1] i .M
= 5
Z sl O
&
o]
b o
®
Y/
/4
»
. u <
3.5 :
Z20=
Qg 8
IHOIEH ANV 3000 XYW ST°56

1°¢ ‘BMp 9z-61" €125 T-T\0T0Z\SBumelq oamy "a\/8ST 4d\009T - 10T fosd\siopiod 1afosd\sefod - v\



(1
4

S

[

Q @ 0.15"

T
I @

| EXTERIOR
4 ® -

/"1 \ HORIZONTAL CROSS SECTION

w Outswing shown - inswing
also approved

INTERIOR

X

2
3

\ EXTERIOR

21)20

1-1/4" MIN.
EMB. (TYP.)

C A

-

s

/"3 "\ HORIZONTAL CROSS SECTION

Q INTERIOR

u

q
3

INTERIOR

EXTERIOR

w Shown w/1X sub-buck

1-1/4" MIN,
EMB. (TYP.)

0.15" B) (p)|
CSINK ] 1 e

(P @ )

/A

. LT 5 .
IS . L
B
IR
3 N & ..
3 ,

33

/"2 "\ HORIZONTAL CROSS SECTION

\:E/l QOutswing shown - inswing
also approved

Documents Prepared By:

é(??'jz Z. &gt 2

P.0O. Box 230 Valrico FlL. 33595
Lyndon F. Schmidt, P.E. No. 43409

BUILDING CONSULTANTS, INC.
Phone Meo.: 813.658.9197
Florida Board of Professional Engineers

Certificate Of Authorization No. 9813

Ry

PLASTPRO INC.
FIBERGLASS DOOR

PART OR ASSEMBLY:
HORIZONTAL CROSS SECTIONS

PRODUCT:

=
<
a
o
Zz
2

paTE: 02/16/1

scalE:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
FL-15213.19

SHEET 3 OF _7_

R:\A - Projects\Project Folders\proj 1501 - 1600\PF 1587\D. RWBC Drawings\2010\FL-15213.19-26.dwg, 3.1

REVISIONS

© 2012 R.W. BUILDING CONSULTANTS ING.



TON] BLNVATINENOD BsNISTINEG MY S 1028 @

:Nacene ON "3'd ‘IPIUYDS "4 UOpud SNOISIAZY
" - ¥ (%3]
ez AL SNOLLOFS SSow0 Twousan |28 V0 IONI ) o] = (N
CL86 "ON UCHDZUOUINY JO SIDOURIeD - NSy
siosuiBuz |DUCISEDI0L O PIDOE DPMOLY SATGNISSY H0 Ldvd m = - »ﬂ &
SBGET "4 OOMIDA 0EZ ¥og 'O'd \Sg@d "ONI O¥dLSYId S &5 i
“ONI ‘SINVLINSNOD ONITING i m : m ™ m
:Ag pespdesd sjuswinoog <LoNAo¥d & m M w
("dAL) "aw3
NIW 7 1-1
v .. 3 A @
. . . v
=
<
<’ oz 0
Sl D D B
ey % e P
. = i (8) Ca -
v m o m s O
| e S c
- , Sl V=n il . Sl
T K3 = ;AIW 1‘. -0 4 Q.2
< O A i \ - IS O g
P S ] Z . &3
. N. fad N - 44 M ”m
S, D e
e |3 ) Ulg
: 5 B B 7
. e
@ & >5 & I s o R
B i &)@ .
S o @
i, . s
® s
7| .
G L
B i
(dAL) aw3 _|
NIW JF/1-1

('dAL) "gws
NIW ./ 1-1

(*dAL)
~— INISD
S1°0

(a4 (0%

o = o) z

e O Y O

I = 5
Olo

N Lyl W [
o b {f=
) z 2
3 & al5
Qe Si2
Jge ol8

7] )

NES <5
= Eg Qe
=N 3 E|2

. >I838 N e S8

a. .,
= = S
- - LN
("dAL) "gW3
NIW /171

1'% ‘BMP'9Z-6T°£T2ST-1\0T0Z\SBuIMeIg Damy "a\/8ST 4d\009T - T0ST foud\siapiod Pafoid\sialold - Vi



R:\A - Projects\Project Folders\proj 1501 - 1600\PF 1587\D. RWBC Drawings\2010\FL-15213.19-26.dwg, 5.1

MASONRY
OPENING

2X BUCK -
N

TYP. HEAD
& JAMBS

|
l

BUCK ANCHORING

CONCRETE ANCHOR NOTES:

AL

18.25" MAX.
ON CENTER

86.75"

60.13"

e
o
Loty

34"

HINGE JAMB

1. Substitution of equal concrete anchors from a different supplier may have different edge

distance and center distance requiremens.

2. Concrete anchor locations af the comers may be adjusted to maintain the min. edge
distance fo mortar joints. If concrete anchor locations noted as "MAX., ON CENTER" must be
adjusted fo maintain the min. edge distance to mortar joints, additional concrete anchors
may be required to ensure the "MAX. ON CENTER" dimensions are not exceeded.

3. Concrete anchor table:

ITw /4

1-1/4°

2-1/2°

3“

ELCO /&

1-1/4°

]"

4!1

é ) ..‘e‘ N / _
e s S,
7\ TYP. HEAD &
MASONRY B JAMBS _ )
OPENING i
2
- | D A
> 5
FRAME v 3= .
in O
=3

2X BUCK\

o TYP. @ SILL
a9 |
S e e
N . DR ° v N <\
N < o
< Bl L o
FRAME ANCHORING STRIKE JAMB
Masonry 2X buck construction

.

e

61.\

/

20,
~)

#

HINGE DETAIL

@/ N2

LATCH & DEADBOLT DETAIL

(%3]
a £ ol 2
8 §n o ¥
z2”. 883"
-dﬁﬁd xz°
THEA
d
HE8 25\
2>k 8F R
2 -enlXs
. o.«,“"&s €
u’;(.)NSCLE £
Egéztz’\\ﬁ
595 . 285 w
©$ 59238 £
£ Roe me [
[N 5] o
g 8 €
] g v E ks
c [
@ o e
P i
=3
8
[=}
8
=
[y
=
=0
o =2
s8l BE
=2 Twu
oul., <8
D:gb L
EqE Sk
gn:ﬁ EZ
] 17| e
Eolg 2
= <
= x| 2=
S S| o
a (&
el |¥ 3=
o o) M@
&
v
=
O
0
|
v
=
<
S
o
=z
oaTE: 02/16/12
scalE:  N.T.S.
DWG. BY: JK
CHK. BY: LFS
DRAWING NO.:
FL—15213.19

SHEET 5 OF 7

@ 2012 R.W. BulLDING CONSULTANTS INC.



R:\A - Projects\Project Folders\proj 1501 - 1600\PF 1587\D. RWBC Drawings\2010\FL-15213.19-26.dwg, 6.1

— A T
R oA S 5
S e 6
, - . LA : a
. d . A_. . . e a . 4
- y A

O T 4y
iy 1
_L . ® < : e
0 e
3 BN | TYP. HEAD &
MASONRY ; B JAMBS |
OPENING
®
R
:ﬁ. T L
&
[+4]
. FRAME/
1XBUCK—\\\
M'
, o P TYP. @ SILL
i e
" 1
e ————
SXENSIEON
HINGE JAMB FRAME ANCHORING
Masonry 1X buck construction
CONCRETE ANCHOR NOTES:

1. Substitution of equal concrete anchors from a different supplier may have different edge
distance and center distance requirements.

2. Concrete anchor locations at the comers may be adjusted to maintain the min. edge
distance to mortar joints, If concrete anchor locations noted as "MAX. ON CENTER" must be
adjusted to maintain the min. edge distance o mortar joints, additional concrete anchors
may be required o ensure the "MAX. ON CENTER" dimensions are not exceeded.

3. Concrete anchor table:

6“

|

17.25" MAX
ON CENTER

60"

s »;%_mL

STRIKE JAMB

il.\

2O,
~(D

4

HINGE DETAIL

LATCH & DEADBOLT DETAIL

/4

1-1/4"

2-1/7° 3"

316"

1-1/4"

2-5/8" 2-1/&

1]
o b 2
.3 §m Ng
gm E£5 9
£ jn 2o 0
.fouw . 49
FEL,
(Udg Nhj
REDSS d
Sgegiyle
2>M 88 N
goﬁ‘é%’ o
3 PR E
$UN6 £ g
v‘z’éz‘éé?(‘\w
£ 5% ps
83588 c
PRoc e S
o g g‘
: S §s
[ O &
£ O
=
©
8
S
Sz
Bmo
o =
(50 >0
ZO -2
=09 o
29 £2
&
-
=39 58
go:m Oy
Lt 0 %fx
Loy <z
. ™ I S
5 14
SN
o
Z g
&
)
=z
O
2
ol
hd
S
o
z
paTE: 02/16/12
scale: NUT.S,
DWG. BY: JK
cHe. B:  LFS
DRAWING NO.:
FL—-15213.1¢9
SHEET _ 6 oF _7

© 2012 R.W. BUILDING CONSULTANTS IND.



il

75

4.56"

0.75"

R:\A - Projects\Project Folders\proj 1501 - 1600\PF 1587\D. RWBC Drawings\2010\FL-15213.19-26.dwg, 7.1

BILL OF MATERIALS
ITEM| DESCRIPTION MATERIAL
A | IXBUCK SG >=0.55 WOOD
B | 2XBUCK SG >=0.55 WOOD
C | 1/4" MAX. SHIM SPACE -
D |1/4"X2-3/4" PFH ELCO OR ITW CONCRETE SCREW STEEL
E | MASONRY - 3,192 PSI MIN. CONCRETE CONFORMING TO ACI CONCRETE
301 OR HOLLOW BLOCK CONFORMING TO ASTM C90
F_11/4"X2-3/4" PFH ITW CONCRETE SCREW STEEL
G ]3/16" X 3-1/4" PFH ITW CONCRETE SCREW STEEL
H | 1/4"x3-1/4" PFH ITW CONCRETE SCREW STEEL
| | 1/4"X2-1/4" PFH TW CONCRETE SCREW STEEL
J | 1/4" X 3-3/4" PFH ITW CONCRETE SCREW STEEL
L | #10X2-1/2" PFH WOOD SCREW STEEL
M | #9 X 2-1/4" PFH WOOD SCREW STEEL
7 | FORCE 5 WEATHER STRIPPING BY ENDURA FOAM
8 | COMPRESSION WEATHER STRIP QLON 650 BY SCHLEGEL FOAM
9 | 4" X 4"BUTT HINGE STEEL
10 | #9 X 1" PFH WOOD SCREW STEEL
1T | #9 X 3/4" PFH WOOD SCREW STEEL
17 | KWIKSET KEYED ENTRY - SIGNATURE SERIES STEEL
18 | KWIKSET DEADBOLT - SIGNATURE SERIES (780) STEEL
20 | FINGER JOINTED PINE FRAME, HEAD & HINGE JAMBS WwOOD
21 | POLYFIBER JAMB COMP. / VINYL
27 | LATCH STRIKE PLATE STEEL
28 | DEADBOLT PLATE STEEL
30 | INSWING VINYL DOOR BOTTOM SWEEP BY ENDURA VINYL
31 | OUTSWING BUMP THRESHOLD ALUM. / WOOD
32 | VINYL DOOR BOTTOM SWEEP #3628 BY HOLM. IND. VINYL
33 | INSWING ADJUSTABLE THRESHOLD BY ENDURA ALUM. / WOOD
34 | INSWING ADJUSTABLE ALUMINUM THRESHOLD BY DLP ALUM. / WOOD
40 | DOOR PANEL - SEE DOOR PANEL DETAIL SHEET FOR CONSTRUCTION DETAILS -
41 | DOOR SKIN (MIN. 0.086" THICK) FIBERGLASS
42 | TOP RAIL CELLULAR PVC
43 | LATCH & HINGE STILE EDGE CELLULAR PVC
44 | LATCH AND HINGE STILE SUPPORT WOOD
45 | BOTTOM RAIL CELLULAR PVC
46 | POLYURETHANE FOAM BY NAN YA POLYURETHANE
47 | STILE REINFORCEMENT STEEL
48 | REINFORCEMENT RETAINING SCREW NYLON

1.22

1.22

NN

| S

* ! 244 ! 213" —= * ! 2.44"

HEAD & SIDE
Jamb

Mm:

( : ) ADJUSTABLE INSWING THRESHOLD

] 4.56" i

Q ADJUSTABLE INSWING THRESHOLD

.,l 1.38" L‘

L—1.38——

252"

|
'1

ﬁ—l 125" |=—

213" ——==

HEAD & SIDE
Poly fiber jamb

89813
2. Z0-/2

0.

thorizatio

-’?_

BUILDING CONSULTANTS, INC.
P.O. Box 230 Valrico FlL. 33595
Phone MNo.: 813.659.81e7

. Schmidt, P.E. No. 43408

Florida Board of Professional Engineers
Lynden

Certificate Of

R

Documents Prepared By:

PLASTPRO INC.
FIBERGLASS DOOR

PART OR ASSEMBLY:

BILL OF MATERIALS
& COMPONENTS

PRODUCT:

=
a
o
z
2

paTE: 02/16/1

scAlE:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
FL—-15213.19

SHEET 7 OF 7

REVISIONS

© Z012 R.W., BuiLoing COMBULTANTS IND.



